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This	
  is	
  simpler	
  than	
  the	
  MIPS,	
  but	
  we’re	
  using	
  it	
  to	
  get	
  the	
  concepts	
  across	
  –	
  
everything	
  you	
  see	
  here	
  applies	
  to	
  MIPS,	
  but	
  we	
  have	
  to	
  deal	
  w/	
  fewer	
  bits	
  in	
  
these	
  examples	
  (that’s	
  why	
  I	
  like	
  them)	
  
	
  





CPI	
  =	
  1	
  (inverse	
  of	
  throughput)	
  



Answer:	
  B	
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CPI	
  =	
  1	
  (inverse	
  of	
  throughput)	
  









1)  Structural:	
  say	
  only	
  1	
  memory	
  for	
  instrucNon	
  read	
  and	
  the	
  MEM	
  stage.	
  That	
  is	
  a	
  
structural	
  hazard.	
  We	
  have	
  designed	
  the	
  MIPS	
  ISA	
  and	
  our	
  implementaNon	
  of	
  
separate	
  memory	
  for	
  instrucNon	
  and	
  data	
  to	
  avoid	
  this	
  problem.	
  MIPS	
  is	
  designed	
  
very	
  carefully	
  to	
  not	
  have	
  any	
  structural	
  hazards.	
  

2)  Data	
  hazards	
  arise	
  when	
  data	
  needed	
  by	
  one	
  instrucNon	
  has	
  not	
  yet	
  been	
  
computed	
  (because	
  it	
  is	
  further	
  down	
  the	
  pipeline).	
  We	
  need	
  a	
  soluNon	
  for	
  this.	
  

3)  Control	
  hazards	
  arise	
  when	
  we	
  don’t	
  know	
  what	
  the	
  PC	
  will	
  be.	
  This	
  makes	
  it	
  not	
  
possible	
  to	
  push	
  the	
  next	
  instrucNon	
  down	
  the	
  pipeline.	
  Till	
  we	
  know	
  what	
  the	
  
issue	
  is.	
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Read	
  in	
  the	
  first	
  half,	
  write	
  in	
  the	
  second	
  half.	
  Later	
  we	
  will	
  change	
  this.	
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Pcreg:	
  from	
  a	
  register	
  j	
  $s	
  
Pcrel:	
  from	
  branch	
  instrucNons,	
  relaNve	
  to	
  the	
  PC	
  
Pcabs:	
  absolute	
  from	
  j	
  Label	
  or	
  jalr	
  Label	
  
	
  
In	
  this	
  case	
  ctrl	
  stores	
  the	
  target	
  register	
  
D	
  is	
  the	
  final	
  result	
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From	
  D	
  you	
  get	
  sw	
  or	
  lw	
  address	
  in	
  memory.	
  
	
  
If	
  sw,	
  then	
  B	
  has	
  the	
  data	
  to	
  store.	
  
D_out	
  has	
  the	
  output	
  lw	
  result.	
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Nop	
  is	
  no	
  operaNon.	
  







0x	
  00	
  0111	
  
0x	
  10	
  0010	
  
And	
  =	
  10	
  
Nand	
  =	
  11111	
  1101	
  















TALK	
  ABOUT	
  GPUs:	
  800	
  deep	
  pipelines	
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1)  Structural:	
  say	
  only	
  1	
  memory	
  for	
  instrucNon	
  read	
  and	
  the	
  MEM	
  stage.	
  That	
  is	
  a	
  
structural	
  hazard.	
  We	
  have	
  designed	
  the	
  MIPS	
  ISA	
  and	
  our	
  implementaNon	
  of	
  
separate	
  memory	
  for	
  instrucNon	
  and	
  data	
  to	
  avoid	
  this	
  problem.	
  MIPS	
  is	
  designed	
  
very	
  carefully	
  to	
  not	
  have	
  any	
  structural	
  hazards.	
  

2)  Data	
  hazards	
  arise	
  when	
  data	
  needed	
  by	
  one	
  instrucNon	
  has	
  not	
  yet	
  been	
  
computed	
  (because	
  it	
  is	
  further	
  down	
  the	
  pipeline).	
  We	
  need	
  a	
  soluNon	
  for	
  this.	
  

3)  Control	
  hazards	
  arise	
  when	
  we	
  don’t	
  know	
  what	
  the	
  PC	
  will	
  be.	
  This	
  makes	
  it	
  not	
  
possible	
  to	
  push	
  the	
  next	
  instrucNon	
  down	
  the	
  pipeline.	
  Till	
  we	
  know	
  what	
  the	
  
issue	
  is.	
  	
  

41	
  



42	
  



assumes	
  (WE=0	
  implies	
  rD=0)	
  everywhere,	
  similar	
  for	
  rA	
  needed,	
  rB	
  needed	
  
(can	
  ensure	
  this	
  in	
  ID	
  stage)	
  
	
  



#1	
  and	
  #2	
  
#1	
  and	
  #3	
  
#1	
  and	
  #4	
  (r3)	
  
	
  
#2	
  and	
  #4	
  
#3	
  and	
  #5	
  



C	
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#1	
  and	
  #2	
  
#1	
  and	
  #3	
  
#1	
  and	
  #4	
  (r3)	
  	
  	
  Can’t	
  go	
  backward	
  in	
  Nme.	
  	
  
	
  
#2	
  and	
  #4	
  
#3	
  and	
  #5	
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assumes	
  (WE=0	
  implies	
  rD=0)	
  everywhere,	
  similar	
  for	
  rA	
  needed,	
  rB	
  needed	
  
(can	
  ensure	
  this	
  in	
  ID	
  stage)	
  
	
  



Nothing:	
  Modify	
  ISA	
  to	
  match	
  implementaNon	
  (not	
  great	
  as	
  an	
  opNon,	
  
violates	
  abstracNon.	
  Requires	
  restructuring	
  by	
  applicaNon.	
  Might	
  not	
  always	
  
be	
  possible).	
  	
  
Stall:	
  Pause	
  current	
  and	
  all	
  subsequent	
  instrucNon	
  
Forward/Bypass:	
  Steal	
  correct	
  value	
  from	
  elsewhere	
  in	
  pipeline	
  
	
  



prev	
  slide:	
  
Q:	
  what	
  happens	
  if	
  branch	
  in	
  EX?	
  
A:	
  bad	
  stuff:	
  we	
  miss	
  the	
  branch	
  
So:	
  lets	
  try	
  not	
  to	
  stall	
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find	
  hazards	
  first,	
  then	
  draw	
  
	
  
IMPORTANT:	
  Arrows	
  can	
  only	
  go	
  forward	
  in	
  Nme.	
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draw	
  control	
  signals	
  for	
  /stall	
  
Q:	
  what	
  happens	
  if	
  branch	
  in	
  EX?	
  
A:	
  bad	
  stuff:	
  we	
  miss	
  the	
  branch	
  
So:	
  lets	
  try	
  not	
  to	
  stall	
  



draw	
  control	
  signals	
  for	
  /stall	
  
Q:	
  what	
  happens	
  if	
  branch	
  in	
  EX?	
  
A:	
  bad	
  stuff:	
  we	
  miss	
  the	
  branch	
  
So:	
  lets	
  try	
  not	
  to	
  stall	
  



draw	
  control	
  signals	
  for	
  /stall	
  
Q:	
  what	
  happens	
  if	
  branch	
  in	
  EX?	
  
A:	
  bad	
  stuff:	
  we	
  miss	
  the	
  branch	
  
So:	
  lets	
  try	
  not	
  to	
  stall	
  



find	
  hazards	
  first,	
  then	
  draw	
  
	
  
IMPORTANT:	
  Arrows	
  can	
  only	
  go	
  forward	
  in	
  Nme.	
  
	
  



prev	
  slide:	
  
Q:	
  what	
  happens	
  if	
  branch	
  in	
  EX?	
  
A:	
  bad	
  stuff:	
  we	
  miss	
  the	
  branch	
  
So:	
  lets	
  try	
  not	
  to	
  stall	
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